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Question 1. Translate the following C code into MIPS assembly instructions. Assume that k is in $t0, base address for integer array v[k] is in $s0.

swap(int v[], int k)
{
int temp;
      temp = v[k];
      v[k] = v[k + 1];
      v[k + 1] = temp;
}



Question 2. A compiler designer is trying to decide between two code sequences for a particular computer. The hardware designers have supplied the following facts:

	
	CPI for each instruction class

	
	A
	B
	C

	CPI
	1
	2
	3



For a particular high-level language statement, the compiler writer is considering two code sequences that require the following instruction counts:

	
Code Sequence
	Instruction counts for each instruction class

	
	A
	B
	C

	10
	20
	10
	20

	20
	40
	10
	10



[bookmark: _GoBack]Which code sequence executes the most instructions? Which will be faster? What is the CPI for each sequence?

